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Answer Key & Worked Solutions 

Henry Park Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

3 4 2 2 1 4 4 2 1 2 

Q11 Q12 Q13 Q14 Q15 

3 1 4 2 3 

Q16) 4.33 Q17) 293 cm Q18) 43 ° Q19) 18° Q20) 0.9% 
Q21) 12m Q22) 48 m2 Q23) $53.50 Q24) 19 Q25) 32 
Q26) 
a) 16
b) 75%

Q27) 1.58 cm Q28) 72 cm Q29) 260 Q30) 32 

Paper 2 

Q1. Area of square = 30 x 30 
= 900 cm2 

Area of circle  = π x 15 x 15 
= 706.5 cm2 

Area of shaded part = 900 – 706.5 
= 193.5 cm2

Q2. 30% of T-shirt  = 117 
100% of T-shirt = 390 
390 – 82 – 117 – 65 = 126 

Q3. Volume of tank = 20 x 10 x 60 
= 12 000 cm3 

12000 cm3 = 12 ℓ 
12 ℓ x 4 = 4.8 ℓ 
12 ℓ - 4.8 ℓ = 7.2 ℓ 

Q4. 

Red Mushroom Cheese 

1
3

4
5

2
7

4
12

4
5

4
14

Ratio = 12 : 5  14 
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Q5. 

35% of books = 7 units 
100% of books = 20 units 
20 – 7 – 6 – 3 = 4 units 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. At the end of 2 days,

Difference between Jacky and Michelle’s bookmark at the end = 18 + 25 – 19 
= 24 

5
8
 of total minus 

3
8

 of total = 24 

2
8
 24

1
8
 12

8
8
 12 x 8 = 96

Number of bookmarks Michelle made = 
3
8

 of total = 3 x 12 = 36 

Ans:  36 

7. Let 5u = Cost of box of cookies

Cost of bar of chocolate = 
2
5

u x 5 = 2u

Cost of bag of sweets = 2u – 1.5 

Total cost = (4 x 5u) + (3 x 2u) + (2u – 1.5) = 68.50 

 20u + 6u + 2u – 1.5 = 68.50 

28u = 68.50 + 1.50 = 70 

u = 70 ÷ 28 = $2.50

Cost of bag of sweets = 2u – 1.5 = 2 x 2.5 – 1.5 = $3.50 

Ans:  $3.50 
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8. 

Ans:  As shown 

9. Let length AB = u

Ratio of length of rectangle to breadth  3 : 2  3n : 2n

Length of rectangle = 42 + u = 3n  (1)

126 + 3u = 9n    (2) = (1) x 3

Breadth of rectangle = 3u = 2n  (3)

126 + 2n = 9n substitute 3u into (2) 

7n = 126 

n = 126 ÷ 7 = 18 

Perimeter = 3n + 2n + 3n + 2n = 10n = 10 x 18 = 180cm 

Ans:  180 cm 
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10. a)

∠ BCD = 78°

∠ ECG = 45°

∠ X = 78 – 8 – 45 = 25°

b) 

∠ CBE = 90 – 25 = 65° 

∠ ABC = 180 – 78 = 102° 

∠ Y = 102 – 65 = 37° 

Ans:  (a) 25° 
(b) 37°

11. a)

Total number of tickets = 5 x 3m + 6m + 25 + 4m -7

= 25m + 18

b)

25m + 18 = 174 x 7

25m = 1218 – 18 = 1200

m = 1200 ÷ 25 = 48

Ans:   (a) 25m + 18 

(b) 48
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12. a)

Ratio of $10 to $50 vouchers  5 : 3  5u : 3u

$20 voucher = 
1
2
 x (5u + 3u) = 4u 

Ratio of number of $20 vouchers to $10 vouchers to $50 vouchers  

= 4u : 5u : 3u  4 : 5 : 3  

b) 

Total value of vouchers = 5u x 10 + 3u x 50 + 4u x 20 = 280u = 4760 

u = 4760 ÷ 280 = 17

Total vouchers = 5u + 3u + 4u = 12u = 12 x 17 = 204 

Ans:   (a)  4 : 5 : 3 
(b) 204

13. a)
Cost of marbles on Monday = 42.90 – 9 = $33.90

Cost of marbles on Tuesday = 64.70 – 11 = $53.70

Difference between Tuesday and Monday = 53.70 – 33.90 = $19.80

66 marbles cost $19.80
Cost of each marble = 19.80 ÷ 66 = $0.30

Total marbles = (33.90 + 53.70) ÷ 0.30 = 292 marbles

b)
If all jars have 12 marbles, total marbles = 20 x 12 = 240 marbles
Excess marbles = 292 – 240 = 52
Difference between 16 and 12 marbles per jar = 16 – 12 = 4
Number of 16 marble jars = 52 ÷ 4 = 13

Ans:   (a) 292 marbles 

(b) 13 jars
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14. a)

Number of semi-circles = 6 + 3 + 6 + 3 = 18 = 9 circles

Number of quarter circles = 4 = 1 circle

Equivalent number of circles = 9 + 1 = 10 circles

Perimeter = 10 x 
22
7

 x 7 x 2 = 440 cm 

b) 

Number of equivalent circles in area = 9 – 1 = 8 

Area of 8 circles = 
22
7

  x 7 x 7 x 8 = 1232 cm2 

Area of rectangle = (7 x 7 x 2)  x (4 x 7 x 2) = 5488 cm2

Total area of rug = 1232 + 5488 = 6720 cm2

Ans:  (a)  440 cm 

(b) 6720 cm2

15. Number of tiles at 4 corners = 4 x 16 = 64

Number of tiles on footpath minus corners = 488 – 64 = 424

Length of footpath along perimeter of pond = 424 ÷ 4 = 106 m

Perimeter of pond = 106 m

Ans:  106 m 
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16. a)
Let number of teachers = n
Number of principals = u
Total teachers and principals = n + u = 481 (1)
5n + 5u = 481 x 5 = 2405    (2) = (1) x 5

Remaining teachers and principals = 
1
5
 n - 

1
4
 u = 26      (3) 

4n - 5u = 26 x 20 = 520    (4) = (3) x 20

9n = 2405 + 520 = 2925 
n = 2925 ÷ 9 = 325 

Number of principals = 481 – 325 = 156 
Number of principals who remained = 156 ÷ 4 = 39 

b) 
Number of teachers who remained = 325 ÷ 5 = 65 
Teachers can be divided into groups of 1, 5, 13 or 65 
Principals can be divided into groups of 1, 3, 13 or 39 

Greatest number of groups = 13 

Ans:   (a)  39 principals 

(b) 13 groups
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17. a)

Ratio of yellow to blue balloons at first  60 : 60  1 : 1  15u : 15u

Ratio of yellow to blue balloons bought  35 : 65  35u : 65u

Ratio of yellow to blue balloons at last  5 : 8  50u : 80u

15u = 60

u = 4

Number of yellow balloons = 50 x 4 = 200 

Number of blue balloons = 80 x 4 = 320 

Total yellow and blue balloons = 200 + 320 = 520 

b) 

80%  520 

20%  520 ÷ 4 = 130 

Ans:  (a) 520 balloons 

(b) 130 pink balloons




